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A D. The r < flf triangle ABE gives A E =

A B cot. E ; hence d^ h cot. ^ a* Agait>

r < d triangle CAD gives AC = A D cot C i

hence X^-Vh - d cot. ^ a -h cot? y% a.

Example.— From the top of a mountain 3
miles in height, the visible horizon apperired

depressed 2^-/»i 3' 27" ;. Find the diameter of

the earth and^ the distance of the boundary of.

the visible horizon.

Log.

Cot.

%. h = 0.4771 21 \

t. }i fi - 1 1. 71 1941
j

sum = 2.189062 ; d =

= i54.:^4; + ^=7961.3.901003.

h =
.>

• .*, D = 7958 miles the diameter of

the earth.

135. To construct a horizontal sundial.— In any

straight line A B take a point O, and from O
\, erect a x -0 T ; take O as center withe the

chord of 60^ as radius and describe a circle

F T S D. F S will represent the 6 o'clock

line, and O T the meredian or 12 o'clock.

From T on the quadrant arc, lay off T H =

the latitude and join O H ; from T draw the

X T P which will be the sine of the latitude.

Make T G = T P, . and from G as center with
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